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Dlreétmq;s In Question Nos. T to 6, select

the related word/letters/numbers from the |
given altematives. E‘i’u‘f}f{éﬁ"gﬂirﬁﬁ“mgﬁ“ order of the
b Dng Paf)fp}'r :Cat : ‘? : - -t |
Kid ) i 2 Put on
_ ((_;}/ Kitten % = 3. Sew
2. 138:161:: 22 g (%{heaﬁsi:mn?ark
ﬁ’-:ﬁs | EB; _ “ : %sv{ 4,57, 3,@ 5 ,1,2
3.2 A 72 1 20\%32«- s : - 14, Armange the mdwlng words as per"
iﬁ"ﬂg _ Elﬁ _ ordefin the dictionary”
4 “D.25::E:9 ok o By
< & 36™ ®) 4 1 4 3 st 2 ~
O K OB g s
~ i 3214
Afgvvx}fzz {FHJ : 7 o TS c% 2314 {D% 2143
ld PRT ED; 0SU ;},.. Dlre:ttmns In Question Nos. 15 to 18, a
| 17 series is given, with one term missing.
& Milk: Cream : Choose the correct alternative from the
. \%{r g""‘“’g"S Sl’mdmt given ones that will complete the series.
(B) Sugar : Salt 15. AMDN,GMIN, ?  RMUN
I‘,n?iﬂ ;gi Clay': Pottery VL { } MPON-~ - Eg% MMPN
) Fruit : Guava . C GMRN ONSU
Directions : In Question Nos. 7 fo 12, ﬁnd 16. 2,7,8, 1
the -:}dd wﬁr%nnbmﬂcttersﬁnumber pair . {A} B) 6 ©5 (D)7 ]q It
aven alternatives . , 42,7
7. (83 Prize Gift 75 %) & (€) 64 (D) 48 —=
. (A]. Award . (D Charity 18. *NAh;lTTPS%V JRQX;7.
. E o B) TPZ
. @ P ED U o E:C) TSY t]}% TRZ
9. (A) ULEP (B) 'SERT . Five years a%h 0, the afes of Raju and
_ Rani were in the ratio 1 : 10. Today the
(C) 0OUSQ {D% ACID sum of their ages is 32 years, %hat
10. 256671 % 257931 ‘-‘:’;L“ b??ﬂ“-zﬁ,}r agmﬂeréﬂ yela_;sgs
0o ﬂgﬁf . 5555 (D) 1933
e {C} 216:6 \{’IB};/ %gg 20.7 A tam-::l BAare bmthgs Eaﬂd DHare .
. -3 sisters. A’s son is D’s brot .
12. (A) River (B) Lake Bf“‘f:e‘i,‘“m A
. Ry - ather Brother
Dam (D) Pond gC} Grandfather Ulr-tﬂcleer
SPACE FOR ROUGH WORK ~/

Part A

GENERAL lNTELLIGENCE & REASUNING

13. Which one of the. given responses
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1. -From the given aitematwﬁ words, - 29, Insert- the correct sign and,find out
select_the word  which camot be ' the result :
tunned using the letters of the gnen ' 24 FTFSESFE=DS
wor - A) +, = % - B) - %
MISUND I}l,D EC% X, oy b+ ié[}]} - X, =,k
%A} TENT ¢ (B} SEND _ - ' ~
- (C) SENT, (D} MEND . 30. 625 ++[484 =2 U4 L
22. From ihe given altemative words, - (8) 57 - By 37 -
select the word which can be formed - (€) 35 - D47
usin the letters of the given word : 31, If < for 1 for 9L for 4
_ ﬁ URATION . and X’ for < ‘»’Jgi{‘:h one of the
(A) NFIRM & (B) CONJUGALA f{)llowmg is'Co
() FINGER o (D OAT L (A) 1S 124) é_uq;.a,(]
©23. " Alphabets are coded by numbers in | (B) 72+9-1B3+6=8),
rever§e order. When unScrambled we ™ (CY (1 + 4 dWa=ag
w1l et a word. Find. that meamn;_,fui . _ (D), 568, 13~ 1456 = 160
N hidden in one of the-responses. Difections 2.1 Question Nos. 32 6 34,
(B) 26,18,11,12,13 seleet the missing number from the given
) 18, 11, 26 13,16 j_'a,sponses
EC] 13. 11, 18, 16, 26
(D) 11,18,26, 13,12 3218 (J6. T
24. Ifthe alphabetsﬁt{:-Zreprescnt ¢ach :}ji %‘S ng
- other in the reverse order i.e. A = Z. " 4 ﬁ% 65
B=Y, C= Xetc., then how ‘HGUR‘ (A} 19 (B}' 15 (CY 13 (D
would be wntten"" : Ff Hj_ I €130
%A) SLIF -~ (By SLFI " /}J 33. 46
C) SLEI (D) Noneofthese™ | kg_@gm_:i

25. In a certain eode RIDGE s written  U/Y 4
as FULGIH. ol _ERUIT be 12-(A)

2 (B) 4 (O (D) 8

written-in the same code 7 34. 4 8 20 G =]
(A)TVEXW -~ \(B) TUWXL & 9 3 D > o
(C) 1UXLW (D) IUXWL ¢ ¢ 6 6 "@/ | g
26. If DGKJL is-coded as 14879 and (A! 22 ( 8 1C) 16. (D} 20 .
KKKLJis coded as 88897, thenhow ~ | 55 Raja took 1 h o travel 2/5 of a
can ‘HDEGF’ be coded ? - . _ journey. He then took another 1 b fo
(A) 96854 - (B \/S‘T 243 j travel the next 1/5 of the journey. He
) (C% 52134 {D} 68549 . _spent 45 min fo travel the remainin -
27, 1123 = 14 and 323 = 22, then 624 =7 . 220 km. hFllnd the distance he tmvell )
* in the whole journey.
(K760 (B) 72 (C)'S6 (D) 55 sk (B) 20km -
8. TD build a wall, 254 bricks are 330 km (D) 440km '
q] uired. Builder has to build 88 such 36.7P, Q. R and S are playing a game of
d]s He 1s having 20,100 bricks & carom. P, R and §, Q are partners. 5
ordered 500 more. How many bricks is the ught of R who is facing West.
- '{a.gl]l b%g uire more }B 357 Then Q 1s facing. .
©) 1752 (D%' 2052 | (A) South ~_ (By” East
L . { _ | (C) West (D) North
SPACE FOR ROUGH WORK
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Directions : In
- Statements are followed by four/two coriclusions/

assumptions. You,have tq. mnmder the statement -
to be true, even 1f it secm% to be at variance -
a

om Lt'rmmnnlv known facts. You-are to
decide which’ “of ‘the @ven conclusions/
assumptions can definitely be drawn from the
§wen statement. Indicate your answer.
Which of the following

for given uestmn an s tement 7 -

Stafemen Is *Maruti_Car’ twice
as fuel efficient as an
: ﬂrdmarr v
Assumptions : (I) A large number
' of " peo le use
-:Maruti

(1) The sale nfh

uestion N{}S 37 and 38 two N

tion is suitable --

- 40.

41.

" ‘Maruti Car’ has™ {7

- increased.
A)  Assumption }aiﬂnemmphcu.
; Assumption (1 ialune 1S un licit,
C ssumptmns (1) and (1) {l'ﬂ]
are implicit.
(D) Assumptmm. “t) and (ll} are
both not implici
38. Statements :(1) All_scientists w

.?}lsn me[n%aaretaen
ome Indian smeutﬁts
; + AV { aré working in America.
= Conclusions :(1) All talmled scientist
< are Indian.
(2) None _of
. scientists is talented.
Some Indian scientists
are talented.

(4) Some talented Indian
smenllsts are working

o A) (1) & (@ n America. [
only
L)/fwmu% iDg Hmﬂy

39. Among the four answer figures,

which one can be formed from the
cul out pieces civen below in the

UL\{lUi] teure?”
uestion ":l"l.lt‘(.‘
5
1

Answer Figures :

) e

A ~B)y_ 1C )

Indian

42

43.

44.

HGW many- tnangles are there i this

_ ﬁguré ?

(A) 34 '(B} 30 (C) 28 {Di 26 |

If the difference of odd numbef of dots
on the opposite side faces of the cube is
6, find the figure which is correct -
Answer Flgures

Gmas
ccccc

e w7 "
NI © D
Which figute best represents the

selationship between Ghee, Fats, Food ?

(A) ®) o(o
©) &P D) @)oo

In the given figure, the tnanglc.
represents  Parliamentarians, the
square represents Ministers and the
circle represents Women. Which
portion represents parliamentarians
who are ministers as well as women ?

B\ , .
{'Q N i...ﬁiﬂ

;3

Ux;f {B} E (O)F (B

R’ represents businessmen.” ‘S’
tepﬁ:sents rich men. “T" represents
honest men. Which number will
represent honest righ men ?

W3 B2 ©5 DY

SPACE FOth UGH WORK
CGL Exam Full Detalls : http://sscportal.infcommunity/cgl
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Directions : In Question Nos. 45 and 46, 49, [Ifa miror is places on lhf:-_!i_ﬂ_e MN,
which afswer- figure will complete the | . ' A,

AW ! . ' then which-of the answer figure is the
pattern in.the guestion figure ? SRR PR al g ettty Apdh
45.. Question Figure : S right 1r.nag:r.,fmi the given figure ?

~ : : - Question Figure :
W

S | i KX
Answer Figures : R j

_ T e N N I. .
kt . Answer Figures :

BEE | BE
46, QExestiml F_i_(gu]re: ( { j | j

. — S . = : T —_— - e _--.-_' R - e e B d,'. '. - - .
| | 50. A" woid issgepreSented by only one .
? ) :
@ ' ' sck of numbers as-given in any one of
. . the altematives. The sets of numbers
=1 | | =1 || == < - given © in Cthe  alternatives  are
il el | & @]I represeited by two classes  of
o B]- : - alphabels “as in two matrices given
: ) sy below. TI i
47.  From the giw&en answér 1gures, select .~ it [ e olums and rows of

Answer Fi ures :

] Sal Matrix T are numbered from 0 to 4
}Eiiﬁﬁiéﬂe.ﬁ&éﬁﬂégf question figee and that of Matrix II are numbered
Question Figure : - from 5 to 9. A letter from these

matrices can be represented first hy
its row and next by-its column, e.g.,

¥ T . - ‘B’ can be represented by 21, 33,
Answef Bignres 1 etc., and ‘R’ cgm be reprejs:enled by
V A ol . 07, ?z' etlc. Simir[arly'ﬂ you Ti;aw: to
. o ST — identity the set for the word given
48. _A(!?J}Eoe ﬂg)ﬁaper {i(s:} fﬁldeémand | - 'AMAZE". |
punched as  shown below in the ' :
question  [igures. From the given 011121314 516171819
answer figures, indicate how it will O MINILIQ|R| |SIE|TIAIM Z
appear when opened. '- LIPIGIDIE[Q] |6 |B[S|R[AIB
uestion Fieures : > IRIBICITIS] [7ITINRIKIC
’ A3 ITIAIDIBI{O]| [8]0|C|G|E|D
| 4{L{ZIWINTE] [9]Q[R[S]VI]F]
Answer Figures : _ | - (A) 31,58, 86,95,88
AR (B) 68,00,31,14,13
(C) 57.58,13, 59,31

A ® © oy | (D) 31,58,57,41,13
~ SPACE FOR ROUGH WORK

CGL Exam Full Detaills : http://sscportal.infcommunity/cgl
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PartHB :
_ | GENERAL AWARENESS
'Which one of the following 58. “A persan can move the Supreme

committees examined and suggested
financial sector rcfonns in India 7
(A) Bhagawa‘t"fl’bmmtttae ¥

(B) * Abid Hussain Committee B
D Narsimham Committeey”

. Chelliah Corgmittee. > Zinelifect
“Privatisation

- Globalisation are-the aims of

53.

5.

-

Sfl

57.

Cefa s

i DA2013.

anomtc Planning
(B) Socialistic pattern of society
(C) Land Reforms
(D) Economic Reforms

The face value of money is more
than the intrinsic value for

_ (A} Bank money
“ (B) Optional money

(C) Token money

(D) - Subsidiary money

Price rigidity is the feature of

(A) -Perfect competitive competition
(B) Monopoly .

(C) Oligopoly —

(D) Monopelistic competitiofi

Fascism believes in .
Dignity of [ndwldual

{B) Propaganda

(C) Socialism

(D) Force

The pnnclpte of “Kinship® is the

basis for one of the following

theories of ¢ origin of the state :
Social contract theory

{B) Evolutionary theory

(C). Force theory '

(D) Dwme Gngm thenry

Equ1hhr1um of ﬂlﬁ monopnlishc ﬁrm o

{A) necessarily is pmﬁtable

©
(D)

nccurs WhBI'E: MR‘“* MG
ocours: wherf: P MR

. _.u )

T

59.

\9}/ Right . to

-Court by appropriate proceedings for
the enforcement of the Fuidamental

' nghls if violated™ This is a

pravision in
(A) Right to Equality

Constitutional =
Remedies )
(C) "Right against Exploitation™
(D) Right to Religious Fréedom '
The Indian Constltutmn has been
divided into

(A) 16 Chapters (B} 24 Chapters -
(C) 25 Chaptapg 22 Chapters
The Supreme Cfmﬂvwas established

in Calcuttain

(A) i 1,

LPTT4
None of the above

61,

|

- 65.

~occurs where P=ME = - e

- (A)
SO 1907

The earliest extant Buddhist Stupa
comes from

(A) Sanchi Samath -
(C) " Bodh Gaya (D) Amaravathi

The Congress split dnfo moderates —
and extremist in . _
(B,j 1905

1906
(D) 1908

The ruins of Harappa were ﬁrst-'
noticed by
(A) Charles Mason ¢8)._Dr. Sahni
(C) M. Wheeler (D) M. S. Vats

Who among the follnwmg made the
statement that “Swarajya is my birth
right” ?

(A) Swami Vivekanand

(B) Raja Rammohan Roy

(&) Bal Gangadhar Tilak

(D) Swami Dayanand

Monistic theory Of snverﬁ:tgnty is
stated by . '

(A), Anstutie_ R
;Eg} Bﬁdm
) Austin e
(D) None of th¢ abcwe {_"h_.‘-', -
444 OL 5

| CGL Exam FuII Detalls http //sscportal m/communlty/cgl



66,

D

,;L(D} ‘Shimla receives heavy rainfall
67.

68.

69.

70.

71.

72.

73.

74.

75

n{ 2013
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ln spite of hem;, lucated at -lower -

latitude  than

colder because

(A) in Shimla it snows hcaw!y

(B) in Shimla air pressure i$ higher
“itis ata hig gher altitude

Anistsar. - Shimla

Barder roads are built solely with the

purpose of maintaining

(A) trade ties with ueu_.,hlmurm;,
~.countries . -

—.(B) tourism

(£) security ufthe cnuntry |
(D) religious ties -with  other
OOHI][[’]C'-:

The recently commissioned Nhava
Shiva port is situated in the state of
(A) Andhra Pradesh
(B) Gujarat
Maharashtra
D) Tamil Nadu

The word CNG in the transport
network system stands for
(A)  Chlorine Natural Gas
(B) Commercial Natural Gas
) Compressed Natural Gas
(D) Condensed Natural Gas

The  author™ of = *Philosophic
Zoologique=is— - '

(A) Lamarck (B) -Darwin
(C} Aristotle: . (D) . Morgan

Which one of the tu!imwm;_., is both a
local anesthetic as well as astimulant 7
(A)". Cocaine (B) Alcohol
(C) Heroin i[/)} Quinine

The other name for phloem is
(A) Wood (B) Sclereid
(C) Fibre (D) Bast

Triticum  aestivum,
bread wheat is

(A) Tetraploid (B} Hexaploid
(C) H1plni{l (D) Diploid

Branch of Bmluu}f deals wnh e:h.tmct

- organisnis :

(A) Palynology  (B) Phylogeny

(C) Palaeobc-tany (D] Palamntology

. The first posmi.,c uamp was 1ssued m

(A)  Varanasi

(B) ~Karachi
(C) Allahabad

(D_] | _yumbai

the common-

76.

71,

¥

The-least dlstancc uf distinct vision is

(A) 35em 4B} 25cm

(C) 45¢cm (D) 15cm

In photoelectric emission. the energy

of emitted electron is

(A) same as that of incident photon

(B) larger than that of incident
photon

(C)  less than that of incident photon

< (D) proportional to' the intensity of

78.

79.

80.

8L

82.

- 83

- incident light

Angular momentum is equal to
moment of inertia »
angular velocity
(B) mass x ani,plai]'welimty I Xi8
(C) lincar velocity %~
angular vc]nmi‘y bz
(D) mass X | linear velogity P

Supereonductivity means

(A) ‘verydfeeble current

(B) wery large current

LS current  without
resistance

(D)  current due to positive particles

facing any

Which of the following communication
modes support two-ways traffic but in
only one direction at a time ?
(A) -Simplex

Half-duplex
(C) Full-duplex
(D) Three-quarter duplex

WINDOWS-98 is basically
(A). ahigh level language
.(«B{ an operating system
(C) an input device

(D) amachine language

A compound used in medicine as a
pain killer is
(A) Urotropine

(B} Chloroform
(C)” Aspirin

(D)  Ethyl alcohol

What could be the function attributed
to the transfusion hssu& fuund m
‘Cycas leaflets 9 - "

“EUA) " Mechatical < (B - Cﬁnduchon

) Stnmbe

\_(,DT Phorosynihesw
T 444 OLS
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84. TEssential ails contam

(A) Alkaloids  (B) Tf:rpenmds
(C) Porpoise - (D) Steroids

85.  The percentage of carbon in steel is -
: [é/g 3to$
(@) 051015

“CEPI" stands for
Ay Comprehensive Environmental
- Pollution Index
- (B) . Council . of . Environmental
. Pollution c:rf lndla

©)

(D)

| (D) 6108
86.

Centre of  Environmental
Pollution Indiana

Centre - of” Environmental
Pollution and Industries

The snow leopard population in indla
15 not found in
(A) Jammu and Kashmir
(B)  Arunachal Pradesh
(C), Himachal Pradesh
Western Ghats

This tree is referred to as ‘Bubabul’ :

(A)  Prosopis juliflora ’
B Leucaena leucocephala

(C) Albizzia lebbeck

(D)  Pithecolobium saman

87.

88.

89. Which of the followiri is fiot a

component of to qualify the “Groen
Embassy”?

T (A) Rainwitr harvesting system

- (B) Installation of solar pancls’on
ihe roof -

(C) / Installation, ‘of  air freatment
filter in the office ventilation
system

(D) " Daily disposal. - of . garbage

generated in the embassy

90.  Which of the following is not a-

national hnhday ?
(A) 2™ October (B) 15"‘ August
(C) 26" January @/ 25" December

Where do the sunrays leave India ?
AA)  Guijarat (B) Pondicherry
(C) Goa (D} Andaman
Which of the following rea-::t to

produce urea ?
Ammonium
Caletum. Sulphdil, L
Carbon dioxade 4 Ammoma
Acetic acid + Ammonia

91.

92.

®B)
(C)
(D)

DA-2013

(B) 0.1t00.25 -

Chlotide +

Mctha_né + Carb_n;l Mdn{);@i&é- . s

Fec Ol 0

iﬁ"--

- 95,

93, A woman who rents her womb to

- produce a-child for others is known as
(A) Biological mother
(By Step mother
) Surrogate mother
= (D) Foster mother

94. The Silkworm Research and Training
Institution under the Central Silk '
-Broad in-India aresadministered. by - -
the Union Mipistry of . .
(A) Forest and. Tribal Weifare

) Forest and Environment

(C) Agricultural  and Rural
Development

(D) Commerceand Te&,{ilc

‘Which Ecmwm& x‘EﬁS awarded

Nobel Prize for e pomics in the
Afear 1998 ﬁr highstudies poverty
and famine s’
(A) Prof Robett Mondell
By, Gary S:-Becker
ﬁ Amartya Sen

(DY Manmohan Singh
96. The credit of construction of first
nuclear reactor goes fo
(A) Niels Bohr
(C) Einsteinr

Which of the following is a
commercial crop ?

" Fermi
D) Oppenheimer
97.

\[ﬁr}’ Cotton (B) Bajra
(C) Jowar (D) Paddv ~
98. Name the story written by,

Rabindranath Tagore ? .
(A) Unto the Last B) Al- Balagh
(C) Akash \/}/ Kabuliwallah

Which of the following is not correct ?

(A) MSP - Minimum Support Price

(B) NGT — National Green Tribunal
- (C) BSF — Border Security Force -

: l{/Dj PIL - Publ;c lntroduced ngatwn

99,

iﬂi} Bhangra lS a popular fulkdanoe Gf

- .,,;(Aj H.ar}ff_l_ﬂd. 1' {B} Chaudlbarh '
'=',_'.',-'("_‘.’-:];.3'_P‘:“’;j?‘b fD) Gu;arat
' 4440L5
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QUANTITATIVE APTITUDE

101. Write the next two numbcrs
- 27 |

9
SO %n
102. 36 workers can do a piece of work in
55 days. 66 workers can do twice of _
this work in -

(A) 33 days (B) - 40 days

(C) 60 days (D) 44 days
103. If 10 men or 18 boys can do a piece of
work in 15 days, then 15 men and 13
boys together will do twice the work in

1 . -
() Sydays  (B) 13;days

©), 14é days (D) 12 days

104, Kamal can do a piece of work in
12 days which Debashis can finish in

10 days-TF they work at it on altemate AU { L

-16’32#'::' 1o

2 ' .
107. 3 of tlie volume of a right circular

cone whose height is 21 cm. and
radius of the base is the radius of the
circle of area 154 cm?, is

3 2
~ (A N6Tem’ . (B) 627§cm3

©) 8175cn’ (LD]” 113% om’
108. List &I)Ic:e of a mmﬁn machine is

$2,300.1t is sold at aﬂls&}nn‘t of 4%.
Fmd the selhng rice oflit.

20230
(c;. fﬁ&ﬁ g 72208

109, "A table is oﬂ'Lrod for T 300 with 20%
and 10% off(Ifin addition a discount

W of 5% is-offéred on cash payment, then
1 cash price of the table is C

5

(B) T216 =
(D) %205.20

Sk, {A) 3240
o C) 210
DA shopkeeper marks the garments at

such a price that even after allowing a
discount of 12.5%, he makes a profit

days with Debashis beginning, in how g of 10%. Find the marked price of a suit
mafy days the work will be ﬁ1mhed ? ‘:Lv, which costs T 1,470.
Sle G ERss0 o B) 21760
(A Iﬁgdays B) 10~ days 3 ©) %1,800 (D) 71848
) .ﬂtnx 111, The average age of 3 students is 15 years
(©) n:l- days (D) | 15 days - -7~ and their ages are in the proportion

105. If the AABC is right angled at B, the
circum radius of the sides AB and BC
are 15.cm and 20 cm respectively is

E } 17.2 cm (B) 12.7¢cm
i"f () 125em- (D) 152 cm

l)- 11}6 In the sequence of numbers 1.9, 13, 17

u—‘\\\ri-""

53; 2:3: 4. The age of eldest student is
20 years (B) 16 years
p 12 years (D) 24 dy
L 44 l,'z The dlamﬁtﬂts of two ends of a
6& < buicket are 20 em and 10 cm and its
.,.-H héight is 24 cm. The w}]ume (in cc}

/f_,';: of the bucket is

19, 27; 36, 49 one number is wrong., 2 (A) 4000 (B) 440(]5

The wrong number is _ . 5

Jﬁ%@f (A) 13 (B) 19 (C) 27 [DY'36 (€) 4040 D) 1885;
/ E FOR ROUGH WORK - P
} //U [y O ‘l}ﬁ. =
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A tain runnm‘g at an av emga speed of
48 km/hr performs a joumey in 6 firs
30 min. How long would the same
joumey take it after crossing 180 kms
the speed was reduced to 33 km/hr ?
(A) ThisdSmin (B) 4 lus

| 3 : |
() SZ,Iu‘s (D) 6hrs45 min

The average of the first fifteen natural
- numbers . which-léave a remainder'--l--
when divided by 34s--

(A) 40 (B) 41 {C) 39 (D) 0

A TV Mmrm sells_ two
televisions at ¥ 9.900 each. He earned

a profit of 10% on the first one and
suffered 10% loss on another. Net loss
or profit percent is

115.

1,
(A) Db 9" o e profit
(€) 1% profit

. 860% of 50 + 50% of §60 is equal to
(A) 430 (BY 310 (CYAG0(D), 960

(B)

17. How_long will atwdin (20 m long take
to clear a platform 130 m long, if its
speed is 54 km h {ve H
l ..,»-"“"""

(A IS,. sees o (BY 107 secs

, A0
(C) 15; sees (D) A67 secs *"’/w
- B
118, The cost of making an article is -~

divided between materials. labour and

l
C r’u l(}“ﬂ’
M loss

19. ‘A bank gives compound interest on -
 deposits at the rate of 5% for the first
year, 6% for the second year and 10%
“for the third yéar. If a deposit amounts
to ¥ 12,243 at the end of third year,
then the initial deposit (principal) was
(A) 11,500 - 210,000
(C) T10,500 (D) % IT,000

- 120, Ifx=1.75, y = 0.5 then find the.value

{!'f4.r'+4xy+y€""?‘,‘,. w
A) 1575 16.00
© 168 D D) 1675 = b

121. -2 isagoot of 22" —x + k = 0, what -
istheyalue ofk ?
(&) 6 (B) =6 (C) 10 9}410

: .
12240 x 1= \ﬁ find the value of

4+_1|:s '

\)YD B)1 (©2 () -2

123. If p = 102, then the value of

p(p*—6p + 12) is
(B)-10000008

(A) 1000008
(C) 999992 (D) 9999992

s

-l

o124 Delhi-and Jaipur are 403 km apart. An
< express bus leaves Delhi for Jaipur at
5 am and runs at an average speed of
- 60 km/hr. Another deluxe bus leaves
Jaipur for Delhi at the same time and

v

ial < | =~ Tuns at an average speed of ¢4 km/hr.
overheads in the ratio 3 : 4 : 2. If the =7 - Where will the two buses meet 7
cost of material ¥ 33.60. the cost of (A) 200 km from Dethi
\;::?Jc s - (B) 200 km from Jaipur - -
) 10080  (B) T11.20 (C) 195 km from Delhi
(C) T4480 (Dy 2240 (D) 195 km from Jaipur
SPACE FOR ROUGH WORK ) ,
AL/ . . d )l
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125. lt'?l =h+ 'er-' lr (riﬂ] then find

r:h. .
(A) 1:2 (B)3:1
(Cy 1:1 .(Dy 4:3
126. Ifx +y=31/8, x~y=1/2, then the
~ value of 8xy (2 +y) is |
(A) 5760 (B) 5440
(C} 5360 (D} 5180

=""127.’Fmdthevalue@f."im ‘\{%' '\/—

(B}

® J
%C/- 313[ 811[

\(a— MLB; is a right angled triangle whose

£C=90% if CD 1 AB and BC? = 16,

CAF 9 find CD.

_' 5 12
(A} B {B} 5
¢y 5 (D)

129. AABC.is a trangle. DyF, F are the

~ mid-poits-of the sides AC, AB and
BC respectively. The circumeentre of
the AABC will be . Fill up this
blank with any one of the following :
(A) Circumcentre (B) In-centre
(C) Orthocentre (D) Centroid

130, If 3@ +b*+cH)=(a+b+¢)? and
a, b, ¢ are non-zero real numbers,

131. The nuimber of pomt*;. in the plane of a
triangle which are equidistant h{}l'!'l the
sides of the triangle is

(AL B2 ()3 D)4

- 132. The point ;of intersection of the

- altitudes of a triangle is known as -
(A) Centroid (B) - In-centre -
(C) Orthocentre (D) Circumcentre

133. Let 0, B, 7 be the three angles of a
triangle  ABC such thatu+[3~::]r ,(,f

“Then AABCis
{A)~ Right angled ﬁcute angled
\}J Obtuse-angled % lsbsc,eles

134. If the circumcgitre of @ tan, gle lieson
one of the sides then tle orthoeentre of
the triangleJies on.,

(A) oneﬁfnihg verticés
(B). onthesame side of the triangle
(C) | odtside thgitriangle

(D) strigtly inside the triangle

135. The circumcentre and. the orthocentre
ofa triangle coincides. Then

(A) thecentroid also coincides with them

(B)  the centroid will be different
from them

(C) thetriangle is isosceles
(D) thetriangle is right angles

136. In AABC, /B = 35°, ZC = 65° and
the bisector of }__{‘[-3.1\('.‘ meets BC in X,

Amange AX.” BX and AB in
descending order.

(A) AB=BX=CX

(B) AB<BX<CX

then : (C) BX< AB < CX

(A) a+b=c¢ (B a+c=b -

(Cy b+c=a Dy a=b=c (D) AB>BX >CX
SPACE FOR ROUGH WORK
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ot -

137. Value:ﬂfswﬂco;lﬁtaﬁﬁcc;wM
Ois
) 0 B 1
© 2 M

138.
sin 2(A +B-C)=1and tan(B + C - A)
:\ﬁ,' then thevaiue of ZB is
((A) 160° (B 300

%
-
(

(D) -Undefined - -

In an acute angled triangle ABC, if

o

o
i

) 1.’-* -f
143. If sec’® + tan’0 = *"32‘; #EL value
of sec’d — tan“ﬁ is
2 . )
(A 13 (B 1
13
€ 0- - (D) B

. The following = pie-chart shows  the
, estlmated expendlture on decoration of

o

WZL o (D) 671-:: ', a house whose total expenses  are
& b 2 ¥ 7 ,20,000/-, Examine the chart and answer
' o Ques. No. 144 to 147, /u'“
139. The Vﬂlgﬂ; cosec? 32° ~ tan? 58° =
(A) 0 B) 2
4O -1 gp} {
®-s8) ~* L
140. IfO"iﬁ": tanﬂ yrthﬂncosGH %
,
3[::3-+ ¥ Af—y?
(A) y (B) 7 o
o y (D} / 144, Fee paid for Architecture
\)Q’f N 2y (A) T12000  (BY~¥13.200
: 7 (©) 9,600 (D) % 15,600
141. fo+B= 90°,thea cosec?or + cosec’ = 145, Expenditure on furniture and curtains
(&) secPofi L 27,600 (B) 1,80:000
(B), - cosectat sec?B 1. (C) 38,400 (B) 22,800
coseclar cosec? “146. How much did they spent more on
(D) sec’o cosec’P flooring than on grills 7
(A) 1,200 (B) 2,400
142. If 3 tan 0 = 4, then the value of | (C) 9,600 D), ~4,800
4 sin 9*3005'3 147. Had the total amount spent on
3 sin 0 + 2 cos ﬁ_ o €= Jecoration ‘been: T 1,50,000~ how
A) 138 - 7 much would have been the expénditure
7 18 on miscellaneous expenses ?
25 18 (A) 21,600 (B 9,600
© 73 D) 75 () 2,400 (D) 12,000
SPACE FOR ROUGH WORK
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The-bur diagrain gives the no. of studenits in -

- different colleges A, B, C, D'and E. Study

the same and answer Ques. No. 148 to 150.

5000 |
45:00' -
= .. qﬂm L - —_
3500 4 -
3000 _
25001
S 1L SRR B
1000 {
500*

4 B c D E

148. Name the college having maximum
number of students.LLB)r
(A) E C
©) B (D) D

Average number of - students
colleges A and B is more in number of

students in college D by how much ?
(A) 0 ;:{% ) 3000
(C) 2000 (D) 1000

The ratio between the no, of students
in colleges D and E is

150.

in s

1470

148.

' 145 By selling 12 oranges for a rupee a

‘man losses 20%. To get a-gain of 20%,
- the number of oranges to be sold for a
rupee should be

(A)5 (B)8 {C}'ld D) 15

146. Thﬁreare24{} coins in 50p., 25 p. and”
10 p. of which the values are
proportional t0 5:3 : 1. The number nf

25 p. coin is

.. (A) 90 (B).80 (€75 (D).50 .

I second number 1@33%% more than the

first and ibe third is 60% more than
the sum of the first and the second.
Then the least number is

(A)15 (B) 17 (C) 13 (D) 14

Two hollow cylindrical metallic tubes . -

have equal intemal volumes. The
‘external and intemal diameters of one
of these are 13 ¢m and 12 cm
respectively and those of the other are
-6.75 cm, 6 cm respectively. The cost
~of metal for the smaller tube is T 100.
‘Find the cost for the larger tube.

(A)"2:5 (B) 5:3° ral (A) Y153, . (B) T 155
(C) 2:3 ;}D)’.%:.z A L (O TS . (D) TS0
: 149. The amount on ¥  10,00,000
FOR VISUALLY HANDICAPPED compounded quarterly for 9 months
144. The ;g;[:);rgg gufb}a:d and his ~ at the rate of 4% per annum is
. wife 12 years ago when they got married (A) T1030000 (B) ¥ 10,30,301
was 24 years. Now they have a child and (©) 1300301 (D) % 13.30,001
ﬂleavmgeage_ofﬂle;farnﬂyiﬂéjears. 150. If 1 1 i then {l lue of
Find theageof thechild. ~ . Sy T Ty then the value o
-~ (A) ‘Gyears- - (B) 7 years . SR yYis .
(C) 8 years (D) Syears A)-2 B)YO (O 2 (D) 4
SPACE FOR ROUGH WORK
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oo -Part D
* ENGLISH COMPREHENSION

Directions : It Question Nos. 151 to 155,
'some parts of the sentences have errors and
some are correct. Find out which part of a
- sentence has an-error and blacken the oval
(@] corresponding to the appropriate -
letter (A, B, C). If a sentence is free from
. emror, blacken the oval corresponding to
- (D) in the Answer Sheet. -

151 The Nile is said to be the longest

(A) /
than all other rivers
(B)
in the eastern hemisphere. ; No error
() . D)
Everything are packed
152. A

and were ready  to leave. No error

® 0O D

The thicf broke:in the  house il the T
"/ {
- (A) < (B)

dead Qﬁth&*ﬁight. , No exror
€. O O

153.

It is difficult f.to let go
(A) (B)

of bad memoirs.  No error

© T

154.

The manager told the boys
(A)

that one ought to work hard-
(B) _

1o earn his living. , No. error

© oy

155.

 DA-2013 o 28

Direcﬁdns : In Question Nos. 156 to 160,

“sentences are given with blanks to be-filled

in with an appropriate - word(s). Four
alternatives are suggested for each question.
Choose the correct alternative out of the

four and indicate it by blackening the

appmpnate oval [.] in the Answer Sheet.

l----156 You should . the

opportunity when it comes.

(A) cease B seize

(C) sense (D‘,u size
157. We must DHI‘SEIVES to
changing cumutﬁm y
(A} -adopt . (B) adept
adapt v (D), accept
158, Xou should start, you are
~ likely to miss the train.
indeed (B) otherwise

& in fact (D) consequently

159. The hawkers are selling their
in the streets.
(A) wire By wares
w (C) wam {D?)‘d'_vear

160. The manager began to doubt thé
~ of his assistant.
(A) credits (B) credit
A NEY  credentials (D) . chances

Directions : In Question Nos. 161 to 163,
out of the four alternatives, choose the one

* which best expresses the meaning of the

given word and mark it in the Answer
Sheet. . .

161. Vicissitudes

(A) Sorrows (B) Mistortunes
(C)  Changes Q}) Surprises

162. Circumscribed )
~(A) ' Limited (BY” Entangled
- (C)  Destroyed (I -Er’oded

163 Tsrade

i (A).. Danuumatmn {B) }:,ulogy
{C] _DI.SQI‘&dllt _ (D) Speech

444 OL 5
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Directions : In Question Nos. 164 to 166,~~ 1~

' o : Directions : [0 Question Nos. 172 to 181,
* choose the word opposite in meaning fo the | 4 “cente

a-sentence —a—part of the sentence is

“given word and mark it in the Answer .
Sheet. _

164. Vigorous ,
Rare

. underlined. Below are given alternatives to

the underlined part at (A), (B) and (C)
which may improve the sentence, Choose

{A) Rough (B) . the comect alternative. In case no
A€y Feeble™ - (D) Artful improvenient is nceded your answer is (D).
165. Pocile - ' .Mark yowr answer in the answer sheet.
Good -(B) Stati o ~ .
' (C) - Stupid ED% sﬁﬁcbam -172. Sheetal has just gone to her family in
o ' Mumbai. :
-166- Iﬂd'lct LR . e % B P . i an eeta \WP’E.IS“C{*" et et e
ol Exonerate Cross-examine |~~~ (B) found~ =~

Directions : In Question Nos. 167 to 171,
four alternatives are given for the
Idicm/Phrase underlined in the sentence.
Choose the altemative which best.
expresses-the meaning of the Idiom/Phrase
and mark it in-the Answer Sheet.

C) P‘Zﬁvai] Respond

167. On hearing  the news of the
kidnapping, she became afraid of her
- own shadow, -

(C} joined
(D). No improvement

173. The man who had jitiped into_the
lake managed to :-Mﬁaﬂgore.
(A who jumpingino the lake
(B)"jumpiug inig'the lake
- Who fuwped into'the lake
(B) Noimprovement

(A; cold and distant V74, ] am vorking on my assienment since
(B) - afraid of her own safety / Monday.
"ér?ghtengdmous | and _-casily: (A) wasworking on my assignment
9@) aftaid of being aloric '@, f.?f.*'l‘lc’ been working on  my
. : assreinment
168. To be fair and square - (C) had 10 be working on oy
(-g) worthy (By hg“ﬁ?t_ - assignment —
(C) - successful . (DY obedient (D)~ No improvement -

169. She just needs forty winks in order to
“be able to work all night.
%’-Xf someone’s help
(B) totakeastroll
(C) ashort nap _
(D) alittle cooperation

170. The minute she arrived at the office. -
she was given the pink slip. = o

175, His journey to Sri Lanka was official.
with no frills attached.
(A) notaxes
(BY  no problems
) no accompaniments
(DY - no improvement

ﬁ} igag;oﬁm ' S £76. Our basketball team play badly last
£Z) aletter to inform that she had Friday.
lost her job (¥ plays badly
\(,Df a letter to inform that she’d (B) played bad
been transferred

" 171. The representatives of the two states -
- tried to enforce a treaty which was:
~a-dead letter. - il

not well-thought out

© 177, ‘He is absent

(C) " played badly
(D) No i’“P"D\’Cm_cn{ .

from the meeting.

'.{C; 1o }Gnge_rin- oree- c éj :1111

e {C)s -nolongerrelevant -~ - o i e SR - o -
= {D} . _-n_g't-_ . 1%1 . keeplng- ~wi1h.. the - = (gl}, dl.ll I.I'I:__', .

- changing times S (D) Noimprovement .
4440LS ' 29 |
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[78. We are. looking forward to_secing
you again. ‘ -
(A) forseeing
(B) on seeing
(C) at seeing
(D) * No improvement
179. [ came to school riding my bicycle.”
(A) by my bicycle o
(B) on my bicycle

~..AC) _along with fiybicycle .~ -

(D) No improvement
180 1 have already read this book twice .
(A) I already twice have read this

book. : _
(B) 1 twice have already read this
book.
(') T have twice already read this
book.

(D) No improvement.

181. -Please make it a point_to send your
letter at my address.
(A)  onmy address
(B) to myaddress
ACY iy address
{3y No improvement

-Piveetions.: In Question Nos. 482 to 188,
it of the four alternatives. ‘choose the one
which' gan be substitited for the given
words/sentences and  indicate it by. . -
blackening the appropriate aval €8] in the
Anstver Sheet, -

182, Cuan'be read clearly
"~ (A} Eligible (B)
(C) Mlegible

Intangible
{2) Legible

i83. The act of killing one’s gwn father
(A) ‘Parricide ) Patricide’
(C)  Fratricide (D) -Parasite

l_ﬂal._An_a tmal li‘.‘.ingf;*ﬁ;ﬁ.sh e e e

(g

| Piscivore (D) Parasite - -
CUDAR2013 G B

~ Carnivore. .. (B) " Herbivore .~ | -~ devi TR
' ' ST Tbeen the passi

185, Person who directs preparation-of a
newspaper B -

[nstructor -+ (B) Auditor _

(C) Editorg - (D) Authnrﬂ

186. A person who does not think or
- behave like everyone else, but has.
independent, unusual opinions.
(A Hermit (B} _ Individual
(C-)/'Maveﬁck (D) Matriarch

187. W'of unusual or remarkable talent

Prodigy .

. (BY” Genjus.
(C) Geek

(D) latellectual
iR
188. Government runs its admini ration
through-departments staffed by civil
. |

serva .
‘\(A”/u];ﬁuﬁeallﬂﬁaf:}’ (B) Dembocracy oL
(®] ﬁﬂ%ﬂfﬂ%)/(\ (D), ‘Ofigarchy /£

Directions : In Question Nos. 189 to 190,
four words are given in each question, out
of 'which only one word is correctly spelt.
Find the correctly spelt word and mark
your answer in the Answer Sheet, -

(B)~Tnnovation

(D) . Inovasion

i89. (A) Inovation
(C) Innovasion

190. (A) - Debauchary (BY Debouchery
(C) Debauchery (D) -Dibauchery
Directions : In Question Nos. 191 to 200, -
you have ftwo briel passages with
5 questions following each passage. Read
the passages carefully and choose the best
answer to each question out of the four
alternatives and mark it by blackening

the appropriate oval [@B] in the Answer
Sheet, | - -

Passage - I (Question Nos. 191 te 195)
The saving of certain wild animals from
extinction has for many years been a
problem for zoologists and other
specialists, but more recently the problem
has become so acute, and has received so.
much publicity, that most people are now
concerned about it. This may at first seem
strange because one ot The most gratifying
developments “of “the " last few years has

assing of strict Taws 1o protett
id*

wild anj quent decl
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the huntmg ﬁf big-game for sport. Why is
it, then that some rare wild arimals are still
threatened with extinction and even some
of the less rare ones are rapldly dechmng '
an number ?
One reason is the ‘march of civilization’ 4{’/
- When an area is wholly cleared - of
vegetation to make room for_new towns,
factory sites or hydmele:cmc plant the
natural home of several species is
destroyed. The displaced animal must
elther mlgratc to anﬁther area or. pensh
the clearing of land for a'road or an

“airfield may involve ‘pushing back’ the
jungle and the smaller the area in_which
Wild_animals compete for a living, the
“smaller r_the number that can hope to
survive. -
191. What is meant by ‘pushing back the
jungle’ ?
(&) Tomove jungle away

(B). Tocompete foraliving / =~
Clearing of vegetation to make
(D) Removing the jungle

towns and factory sites

192. What has. the passing of strict laws
- resulted in ?
(A) A problem for zoologists
AB) The decline” of = big-game
' hunting for sport '
(C) Smaller locations for towns..
(D) Wiping out wild animals in
smaﬂer number

193, What is the main reason for an area
to be wholly cleared ?
() The march of civilization
(B) Tomake rooms for rare animals
(C) To grow trees
{D) To reduce the area of the jungie
194 eaning of the word ‘gratifying’ is
rcsultmg, (B) reducing
(C) pleasing (D} declining -
195. Acmrdmg to the author what is
refgred to ‘This may at first seem.
strange’ 7. -
(A)~The prﬁblpm of savmg certain..
“oowild. ammals
By Ahed 3!“% bszg—game '
). The cleaning yegetation .-
D)+ The r%ia{%lgéﬂ* aammals

. http://sscportal.in

Passage = ll [qu::s;mn Nos. 196 to 201}}

S

motherland. It -i1s a natural feehng that_

almost every person possesses. If a person
- has no love for his motherland, he e must be

as_pood as dead. ‘Love of our counfry’
‘should_become_our motto. The love for .
one’s motherland is more significant than

all other varieies of Tove, TTis Tove iay be

there_becausc of the physical beaufy of
one’s motherfand — its landscape; fertility

~ OF fich nafura resources, But, it really is a

_"'_';_'H__qgjo be proud of, It1 instills s a feelingof .. .
OWNNEss in @ person an “he or she she comes

to have an emotional hand wfh the Tand cf
Tis or Ter birth. This tove 1. e. "patriofism s,

untduched by selfishness’."On the other ‘

hand a patriot is always prepared to make
sacrifices for his or her rq:gunﬁy'ih

196. The authorfeels thatpalrmtlsm 1s not
linkedto Th .

(A) pride °
(C) gencrosity

(B) cormuption

(E)//selﬁslmess

197. A patriotis always
(A)" ready to glorify his country
(B) ready to rule his country

\/)/ ready to sacrifice himself for
his country

(D) Tready to work for his country

198. We can pay homage to our patriots
Y
(A)

©
(D)

199. The wnrd Patnotlsm means

“"Love for one’s motherland
(B) Love for one’s mother
(C) Love for oneself
(D) Love for one’s culture

building memorials in their
honour _

making speeches in their praise
- publishing their biographies
emulati'ng them

200, According to the authot

{A) All-cannot love their chuntry ;’\,_
(B) ~Love of our country is more

important ﬁl&l‘} Other k:nd -:}f
lr_we '

L

One should lc:-ve Olleseif first’
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